= a
N = 0l & AF & F Al A
0128 F £ 15 LuslN JIEISEEN ST ~ FD
SN BT
HE: 2R B M2 D HES
CHel: ARBP YB3 I CEERED
SN - EH . S(3) - MRAY - BES O &t 04 o s HRz2
S4H 23,206,055 18,670,910 4,535,145
= 6,457,809 6,234,981 222,828
Il 9,041,532 8,569,875 471,657
£ 50,000 0 50,000
= 7,656,714 3,866,054 3,790,660
28 FNYe 8= 210 EBESE 23,165,219 18,635,920 4,529,299
= 6,457,809 6,234,981 222,828
] 9,041,532 8,569,875 471,657
= 50,000 0 50,000
= 7,615,878 3,831,064 3,784,814
2R 5% 54 2,196,864 194,000 2,002,864
SIRMAZIF HHHEIHE (OIS E )& X 562,000 0 562,000
403 XXM S X201 & 562,000 0 562,000
01 AtXIEHH A= 2 X 562,000 0 562,000
O RMASIH ANHEIHE (IS E)AEX 562,000 0 562,000
steegs 2= A 360,000 0 360,000
308 AtXIEHMIS 0l & 360,000 0 360,000
01 HXHHBLEXS 360,000 0 360,000
OFtYUL ASTAZ N 360,000 0 360,000
StRMAtHl 22 NSstAlE X2 1,044,000 0 1,044,000
403 KX &M S AH=01& 1,044,000 0 1,044,000
01 KX ST 22 = 1,044,000 0 1,044,000
OttdAtHl 22 UHS3tAIE K& 1,044,000 0 1,044,000
DI MAS BA XR(IEEXR) 36,864 0 36,864
308 AtXI M SOl A 36,864 0 36,864
01 HXHHBAEES 36,864 0 36,864
O 10J| daty grat X3 36,864 0 36,864
s - 2= - Y E4 417,950 212,750 205,200
HOYE PRANL EXAL 112,200 0 112,200
403 XXM S =01 112,200 0 112,200
01 AtXIEHH A= 2 X 112,200 0 112,200
OFHYE 22Ald XA 112,200 0 112,200
Het dEEHE 54 93,000 0 93,000
403 A X SHHE =01 & 93,000 0 93,000
01 AtXIEH X222 93,000 0 93,000
ONe BEEHE 84 93,000 0 93,000
Sisot doE K& 9,037,337 8,004,500 1,032,837
Il 7,190,675 6,921,500 269,175
= 1,846,662 1,083,000 763,662
TMNESHAD|E EF(=21D) 3,503,000 3,207,000 296,000
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2,667,000
836,000

2,547,000
660,000

120,000
176,000

n >
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1,947,000
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2,427,000

1,947,000
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0
140,000

01 HXHHBLE

OArZ el Xl Mzl
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936,000

720,000
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600,000
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120,000
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01 X+XI EH MK
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36,000

780,000

0

0
0

156,000

156,000

120,000
36,000

<

—_

,790,587

,649,225
141,362

—_

1,770,800

1,631,000
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163,800

126,000
37,800

163,800
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SA: EAD
2

Hu: 2@ SMelol M2 2D Y=

el EASIF FHOH N (el )

SA BB H(BH) - MBAY - B2 O A+ 24 I o HRs2
F=2EUC FH 75,000 0 75,000
403 XX SHH S K2 0| H 75,000 0 75,000
01 XFXISHRIXH2 2 & 75,000 0 75,000
OYEZUE S4 75,000 0 75,000
IIETH2E K 225,000 0 225,000
308 XX EHHI S 01 & 225,000 0 225,000
01 A SHZASES 225,000 0 225,000
ONEMH2E N 225,000 0 225,000
St ADIZAH A (2 D) 4,950 0 4,950
| 4,950 0 4,950
308 Xt X EHHI S 01 & 4,950 0 4,950
g 4,950 0 4,950
01 KRS B A2 XS 4,950 0 4,950
CEVETEPEL V- 4,950 0 4,950
| 4,950 0 4,950
242 HE - OFY 2 1,209,212 470,232 738,980
| 612,660 391,860 220,800
= 596,552 78,372 518,180
HACCPXI € X ® (2 1) 270,480 0 270,480
p 220,800 0 220,800
= 49,680 0 49,680
308 Xt X EHHI S 01 & 270,480 0 270,480
p 220,800 0 220,800
= 49,680 0 49,680
01 KX SHZAEED 270,480 0 270,480
OF4S HACCP HAE Al 270,480 0 270,480
| 220,800 0 220,800
= 49,680 0 49,680
EA2L BB ZARMHEK E4 363,500 0 363,500
201 Yyt | 1,000 0 11,000
03 & AL2 & b 11,000 0 11,000
OXAE MAMDF 11,000 0 11,000
403 XX EHHI S K2 0| & 352,500 0 352,500
01 XX S X2 2 % 352,500 0 352,500
OXMBTHISHR EA& 352,500 0 352,500
= AHs I} HACOP XI & 105,000 0 105,000
308 Xt Xl £H 7 S 01 & 105,000 0 105,000
01 XGPS XS 105,000 0 105,000
©F &5 I} HACCP X/ 105,000 0 105,000
by =2 7,226,281 6,676,863 549,418
= 4,363,509 4,140,681 222,828




S B
Ha: 2R SN0 M2 FHD YE5
col: JpEge =3 (ol &
SA - SR(E) - HRAY - BES 0 & 24 pJE-T HIRE
] 1,238, 197 1,256,515 18,318
s 50,000 0 50,000
= 1,574,575 1,279,667 294,908
OIEYAANY R (2D) 4,318,112 4,606,931 288,819
= 3,863,509 4,140,681 A277,172
= 454,603 466,250 A11,647
308 XXl £t M SOl & 4,228,112 4,516,931 £288,819
= 3,773,509 4,050,681 A277,172
= 454,603 466,250 A11,647
01 RXSHBABES 4,228,112 4,516,931 £288,819
OIS A (B4 4,166,912 4,516,931 £350,019
=2 3,722,509 4,050,681 £328,172
= 444,403 466,250 ~21,847
OHX A2HEE XEX 2 61,200 0 61,200
= 51,000 0 51,000
= 10,200 0 10,200
IIEFYIEAL (2 D) 690,237 690, 150 87
p 575,197 575,125 72
= 115,040 115,025 15
308 XXl £+ SOl & 690,237 690, 150 87
p 575,197 575,125 72
= 115,040 115,005 15
01 RXSHBABES 690,237 690, 150 87
ONERYIE ALY 690,237 690, 150 87
p 575,197 575,125 72
= 115,040 115,005 15
IIE MY A =T R (2 D) 694,000 639,650 54,350
p 416,400 383,790 32,610
= 277,600 255,860 21,740
307 Q120 H 694,000 639,650 54,350
p 416,400 383,790 32,610
= 277,600 255,860 21,740
02 I A BE 694,000 639,650 54,350
ONEMYATAEL K 694,000 639,650 54,350
p 416,400 383,790 32,610
= 277,600 255,860 21,740
EMEHXE XA (2D) 0 61,200 A61,200
p 0 51,000 A51,000
= 0 10,200 A 10,200
308 XXl £HHI S0l & 0 61,200 ~61,200
g 0 51,000 A51,000
= 0 10,200 A10,200
01 XX SHZABES 0 61,200 A61,200
OSX ADHEE XEX S 0 61,200 A61,200
p 0 51,000 A51,000
= 0 10,200 10,200
— 4 —




SN SN
Mo 2Ag Bpgo] M2 3D AEs

ol JbEYe £ (Erol: @2
SM-EH . C(BH) - HRAY - B2 O &F 24 I HRs2

AHE 242 X/(2D) 525,000 0 525,000

2 500,000 0 500,000

= 25,000 0 25,000

308 XXM SO0IA 525,000 0 525,000

= 500,000 0 500,000

= 25,000 0 25,000

01 IXNHHBAEES 525,000 0 525,000

oaxzEaza N 525,000 0 525,000

= 500,000 0 500,000

= 25,000 0 25,000

YRHLEE ASASSH 22 168,000 0 168,000

308 XX S S 0] & 168,000 0 168,000

01 IXNHHBSEXZ 168,000 0 168,000

OHXHLES AEHAZSN B2 168,000 0 168,000

OrMEE At E2EXAE X 102,000 0 102,000

403 At XIS HEXH=0l & 102,000 0 102,000

01 AtXIEH X2 22 102,000 0 102,000

OOt EZE SA H2EXAE X2 102,000 0 102,000

TROUSFAUA SAM XA 50,000 0 50,000

£ 50,000 0 50,000

206 M= Hl 50,000 0 50,000

s 50,000 0 50,000

01 =8l 50,000 0 50,000

OZBUEBRAX YotE 7 50,000 0 50,000

s 50,000 0 50,000

Hees(Satn) 5,846 0 5,846

SENE 5,846 0 5,846

S SER2 2DEEZ UE 5,846 0 5,846

802 gt =J|Et 5,846 0 5,846

01 =0ExX3BtEz 5,846 0 5,846

O'Mg =AML ARNF =R N& 4,891 0 4,891

O'11E EEAANR 2Y 955 0 955




